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- AUz FRES 5,500,000 = 14l 5,500
—4E3H 7RANES 3,000,000& = 14 3,000
401 A& HI L 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
OS4& & MF & AHOIE 0IEEX
20,000,000& =« 14 20,000
405 XHobF S HI 143,000 316,300 A 173,300
01 AL ESFH S 143,000 316,300 A 173,300
OIPEsI 2 500,000& =« 40CH 20,000
OCIp&E =] 7 ¢ 40,0003 = 50CH 2,000
Ouwstll = (ASM) WA 5,000,000& =« 80H 40,000
Ou &Il ADMIN A1 WX 9,000,000& = 14 9,000
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EST AL
SN (UNBBHE/AUHE)
sal e )
5 - 4
A FB B (EN) - HRAY - BES 0l &t o e 2
SEECEEERESEE
20,000,000& =« 14l 20,000
OZ2g, aloa &EFH wH
52,000,000& = 14 52,000
HY2IZH (B2 XA )(IIEH/DIEL) 154,846 162,473 2,373
224l 46,220 44,097 2,123
ol 2l 46,220 44,097 2,123
101 @124l 44,592 42,627 1,965
02 JIEtE B 44,592 42,627 1,965
OAZEE T dIH =2 B+ 44,592
—Jles 2,897,620& * 1€ » 123 34,772
—NLaRLY
9,434 = 38AIZ2F » 18 * 123 4,302
— W ZAH| 130,000& = 18 = 128 1,560
—saxelty 131,560% * 19 * 122 1,579
— HItE & Hl
2,897,6209 * 86% * 1/30 » 1¥ = 12& 997
— A MH&H 36,350, 1602 * 3.8% 1,382
204 MR I 1,628 1,470 158
02 M= x4 1,628 1,470 158
OAIZPEEH 2DIH S2J AZEXH
135,620 * 18 » 123 1,628
=3t 108,626 108,376 250
Jl2&tl 108,626 108,376 250
201 Let2d] 25,166 24,916 250
01 At 22l 25,166 24,916 250
O=AERX ¢ 15,000& = 199FA « 123 3,420
OEZ0HAHI 7,000& * 64 » 198 * 123 9,576
Oggtx=x=g 100,000& » 12& 1,200
OAL72 &SI 50,000& = 12& 600
Oam 2 =44l 9,230
— A =2l 1,000,000& « 1CH 1,000
— ZEHIl =2 100,000& * 500 = 50/100 250
—SAI EU 200,000& = 53] = 104 1,000
—DREII(SW) £
200,000& = 53| = 504 5,000
—ZEHI(EH) EU
200,000& = 53] » 104 1,000
—PC =2l 100,000& = 19CH » 20/100 380
— JIEt==2lHl 50,000& = 12& 600
OJIEt AHRESHI 5,000& = 19% = 12& 1,140
202 044l 78,660 78,660 0
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